I E H S 4 Kk 7)1 44 K HE TR 4
IN
e A L D oIS
24 BEHH (H/H) 5/9 7/25 10/31 1/30 Gl 5
AERE A REA] (KF:47) 8:15 9:25 7:05 8:15 Wt
- B OH Aff E Ll il PRl Pt
e 7K % (m) 4.5 4.4 4.5 4.3
A S SRS )& < JE 7<) )=
S f = iE i3 i3
R " (C) 19.8 32.2 12.1 7.2
ey I i (C) 20.1 26.1 17.8 11.9
s 0, A IR ok £ e () IR ok £ Fkta
S = KR P K &= T KR e 5L
g %5 B B (m) 1.7 0.9 1.1 2.1
% i B (cm) 76 62 > 100 61
15 | A= pH 7.4 7.6 7.3 7.0 7.3
i DO (mg/L) 5.5 6.0 5.4 6.0 5.7
i BOD (mg/L) 2.1 1.6 1.2 1.2 1.5
Bt COD (mg/L) 8.3 7.8 7.1 8.7 8.0
H |5 SS (mg/L) 6 5 3 5 5
mlha %= # (mg/l) 7.32 6.32 8.87 9.15 7.92
N EES B (mg/L) 0.796 1.09 0.911 1.58 1.09
HI =% i & (mg/L) 0.03 0.03 0.03 0.03 0.03
7K X v A (mg/L) < 0.001  [< 0.001 [< 0.001 [< 0.001 [[< 0.001
| & ¥ 7 v (ng/L)|< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
53 i) (mg/L) < 0.005 |<  0.005 |<  0.005 [<  0.005 [< 0.005
WL AN i 7 v & (mg/L)J< 002 < 002 < 002 < 002 [<  0.02
H fitk F (mg/L) | 0.005 [<  0.005 |<  0.006 |<  0.005 [< 0.005
i@ 7K $E (mg/L) |<  0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005
K B (mg/L) < 0.02  [<  0.02 < 0.02 <  0.02 f< 0.02
ol g M 8k (mg/L) 0.14 [<  0.05 0.06 0.18 0.10
H M~ > 5> (mg/L) 0.09  [<  0.02 0.04 0.06 0.05
H v = A (mg/L)J< 0.02 (< 002 < 002 < 002 [<  0.02
WAt ¥ A4 4~ (mg/L) 820 840 1100 2060 1200
i b ¥ A4 A > (mg/L) |< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
Z i b K F (mg/L) [< 0.001  |<  0.001 [<  0.001 [< 0.001 [J[< 0.001
MBAS (mg/L) 0.03 0.03  |<  0.02 0.03 0.03
) TUoE=TMEEZE (mg/L) 1.08 0.02 0.08 0.19 0.34
fagEErEER (mg/L) 0.77 0.25 0.07 0.95 0.51
fit FRATEZE R (mg/L) 3.52 5.05 6.27 6.44 5.32
B B PE B (mg/L) 0.581 0.852 0.754 1.40 0.90
B R m B R G ey 2750 2870 3810 6660 4020
BB oKk OB = T INE T
. 7K i (C) 20.8 26.1 25.1 15.3
5 = pEhi bk R WifbkERE [ibkER| TKE
. % 5 - (cm) 36 58 60 40
[ e pH 7.2 7.4 7.4 7.2 73
IE DO (mg/L) 06 < 05 < 05 2.6 0.8
T | g BOD (mg/L) 1.9 3.6 3.5 1.1 2.5
s COD (mg/L) 6.0 6.9 5.6 6.2 6.2
o SS (mg/L) 3 5 4 4 4
=S = F# (mg/L) 2.50 1.78 1.00 6.56 2.96
Hl % i (mg/L) 0.381 0.444 0.240 1.04 0.526
w4 4 > (mg/L) 9360 13100 16500 7440 11600
i b A A4 > (mg/L) |< 0.1 1.4 5.4 < 0.1 1.7
T W 8 K £ mg/D]< 0.001 1.0 0.013  [< _ 0.001 0.253
. ToEu=TMHEE (mg/L) 0.98 0.61 0.39 0.33 0.58
fgEerEzEFR (mg/L) 0.30 0.02 0.01 0.59 0.23
it fEfRIEZESR  (mg/L) 0.58 0.05 0.03 4.93 1.40
B B M B (mg/L) 0.274 0.316 0.157 0.895 0.41
H R s B R (o s 25600 33600 42000 20000 30300




I E H S 4 Kk 7)1 44 K HE TR 4
IN
e AN L D oIS
24 BEHH (H/H) 5/9 7/25 10/31 1/30 Gl 5
AR FHATREZ] (RF:47) 9:00 10:25 8:10 8:55 DA
- B OH Aff E Ll il PRl Ll
a2 7K % (m) 3.4 3.3 3.6 3.0
wml B K3 )& < JE =8 7<)
- i jE {% i = iE i3 i3
ol i (C) 19.0 33.1 15.2 9.1
=l K i (C) 20.6 27.6 17.7 11.4
s 0, LB IR UKD, ) R ek £
= B & KR KR e L e L
g 75 B B (m) 2.4 0.8 1.1 1.8
7 A E (cm) 61 41 82 100
18 | A4 pH 7.3 7.5 7.3 7.2 7.3
- DO (mg/L) 3.2 6.9 4.7 7.2 5.5
i BOD (mg/L) 1.9 2.5 2.2 1.7 2.1
B COD (mg/L) 6.4 7.2 6.3 7.2 6.8
H |5 SS (mg/L) 13 6 4 3 6
wlL & = # (mg/L) 4.39 4.21 5.68 8.15 5.61
S W (mg/L) 0.393 0.850 0.625 1.30 0.792
U2 @ &% (ng/l) — — — — -
7K 2 v A (mg/L) — — — — -
| & ¥ 7 v (mg/L) — — — — —
B3 #n (mg/L) — — — — -
Wl KN i 7 v A (mg/L) — — — — -
H fitk #  (mg/L) — — — — -
i K R (meg/1) - - - - -
¥ i (mg/L) — — — — -
RO Bk (me/L) — — — — -
B [Tt~ 7> (mg/L) - — — - -
H [~ v & (mg/L) — - — — -
WAk W A A >~ (mg/L) 5010 3900 4600 4080 4400
i b ¥ A A4 > (mg/L) |< 0.1 0.1 0.1 0.1 < 0.1
i Ak K 3 (mg/L) [<_ 0.001 0.001 0.001 0.001 [I<  0.001
MBAS (mg/L) — — — — -
D ToE=THEESR (mg/L) 0.62 0.13 0.39 0.53 0.42
A rEEFE (mg/L) 0.35 0.10 0.07 0.84 0.34
fit FURRTEZEE (mg/L) 1.33 9,50 3.30 6.20 3.34
B B M B (mg/L) 0.264 0.664 0.462 1.07 0.615
B A B E E 0y 14800 11500 13500 11900 12900
B OB Kk T)E )= TE T
. 7K i (C) 21.2 26.6 25.1 14.7
5 = KR K 5 AR
- % o B (em) > 100 62 77 60
[ e pH 7.3 7.5 7.5 7.9 7.6
T DO (mg/L) 1.3 2.0 2.9 6.7 3.2
T | gy BOD (mg/L) 1.2 2.7 1.1 1.2 1.6
5 COD (mg/L) 4.2 5.7 3.4 3.7 4.3
q o SS (mg/L) 2 4 3 6 6
~ & = # (mg/L) 2.11 1.80 1.25 1.83 1.75
H % B (mg/L) 0.301 0.354 0.163 0.148 0.242
WAk A A4 > (mg/L) 12200 14400 16600 17000 15000
At % A A4 > (mg/L) |< 0.1 0.1 0.1 0.1 < 0.1
€ i b K F (mg/L) < 0.001 0.001 0.001 0.001 [[<  0.001
o TUoE=TMHEHE (mg/L) 0.98 0.49 0.31 0.43 0.55
frgEerEzEFR (mg/L) 0.21 0.08 0.09 0.19 0.14
it fifett=s%  (mg/L) 0.68 0.34 0.52 0.97 0.63
B M B (mg/L) 0.254 0.269 0.123 0.090 0.184
E R B E E 0 sy 32200 36700 42900 43600 38900




I E H S 4 KI 4 7)1 44 K HE TR 4
IN
i epst i e D oIS
24 BEHH (H/H) 5/9 7/25 10/31 1/30 Gl 5
AR FHATREZ] (RF:47) 9:40 11:00 9:10 9:30 DA
- B OH Aff E Ll il PRl Ll
== 7K % (m) 4.0 4.4 4.4 4.4
wml B K3 )& < JE EE] 7<)
S oz = iE i3 i3
I " (C) 20.4 34.0 18.3 9.8
=l K i (C) 20.6 28.3 18.5 12.4
s 0, A JK kA T (g R ek £
ol IE> = fE 5L KR PR AR KB
g 75 B B (m) 2.8 1.3 1.2 1.8
7 A E (cm) 71 51 67 100
18 | A4 pH 7.3 7.5 7.3 7.2 7.3
- DO (mg/L) 3.1 7.6 3.9 6.8 5.4
i BOD (mg/L) 2.2 4.2 2.6 2.8 3.0
B COD (mg/L) 7.3 8.4 6.3 7.9 7.5
A |5z SS (mg/L) 3 5 4 4
wlL & = % (mg/L) 4.90 7.07 4.29 11.8 7.02
S W (mg/L) 0.429 0.581 0.465 0.294 0.442
U2 @ &% (ng/l) . - - - -
7K 2 v A (mg/L) — - - - -
| & ¥ 7 v (mg/L) - — — — —
KR &h (mg/L) - — — - -
Wl A i 7 5 A (mg/L) - - - - -
H fitk # (mg/L) - - - - -
i 7K R (mg/L) - - - - =
K 4 (mg/L) - - - - -
ol R M B (me/L) - - - - -
B i~y 5o (ng/L) . - - B -
H [~ v & (mg/L) - - - - -
w4 A4 > (mg/L) 6080 4830 7340 7630 6470
i b ¥ A 4 > (mg/L) 0.1 0.1 0.1 0.1 < 0.1
i b K F (mg/L) 0.001 0.001 0.001 0.001 [I<  0.001
MBAS (mg/L) - - - - -
D ToE=THEESR (mg/L) 2.10 2.55 0.65 5.35 2.66
A rEEFE (mg/L) 0.80 1.38 0.34 1.78 1.08
fi FEEVEZE S (mg/L) 1.48 1.98 233 3.66 236
B B2 PE B (mg/L) 0.276 0.396 0.321 0.177 0.293
E R G E E 0 sy 17500 14200 21100 21600 18600
BB oK OB )= T INE] INE]
. 7K B (C) 21.9 26.6 23.7 12.4
5 = Ji: 5 KR R AKER AR
o %5 4 E (cm) 77 52 82 63
L[ e pH 7.4 7.6 7.6 8.0 7.7
VT DO (mg/L) 0.7 0.7 2.8 7.4 2.9
I | g BOD (mg/L) 1.7 2.6 1.0 1.1 1.6
5 COD (mg/L) 4.1 4.3 3.6 2.3 3.6
o SS (mg/L) 3 7 2 7
=~ & = F# (mg/L) 1.72 1.80 1.41 1.47 1.60
Hl % H  (mg/L) 0.295 0.262 0.144 0.107 0.202
WAt ¥ A4 4~ (mg/L) 14300 16500 17000 18100 16500
WAt % A A4~ (mg/L) 0.1 0.1 0.1 0.1 < 0.1
€ i b K 3 (mg/L) 0.001 0.020 0.001 0.001 [[<  0.001
o TUoE=ZTEESE (mg/L) 0.79 0.42 0.32 0.37 0.48
e rEE S (mg/L) 0.14 0.09 0.12 0.15 0.12
i et sEdR  (mg/L) 0.33 0.30 0.66 0.83 0.53
B B MR (ng/L) 0.246 0.193 0.114 0.055 0.152
E A L E E 0wy 37700 40800 43400 45100 41800




I E Hh 5 4 Kk 7)1 44 K HE TR 4
IN
e G SO |REMER| C 1K
24 BEHH (H/H) 5/9 7/25 10/31 1/30 Gl 5
AR FHATREZ] (RF:47) 10:20 11:30 9:45 9:45 DA
- I LR A &k 1 1 g 1
== 7K % (m) 3.4 4.0 4.0 4.0
wml B K3 )& < JE EE] 7<)
S oz = iE i3 i3
I " (C) 20.6 31.8 18.2 10.2
=l K i (C) 20.9 29.8 23.0 14.7
s @ e JR R ok £2 RE kA I ok €2,
ol IE> = fE 5L KR PR AR KB
g 75 B B (m) 1.9 1.4 1.9 2.0
7 A E (cm) 56 52 55 64
18 | A4 pH 7.4 7.5 7.2 7.2 7.3
- DO (mg/L) 4.9 6.6 4.9 6.6 5.8
i BOD (mg/L) - - - - -
B COD (mg/L) 11.0 9.1 9.2 8.4 9.4
H |5 SS (mg/L) 3 4 3 5 4
w2 = # (mg/L) 12.5 12.8 9.37 12.8 11.9
S W (mg/L) 0.406 0.389 0.493 0.341 0.407
U2 @ &% (ng/l) . - - - -
7K 2 v A (mg/L) — - - - -
| & ¥ 7 v (mg/L) - — — — —
KR &h (mg/L) - — — - -
Wl A i 7 5 A (mg/L) - - - - -
H fitk # (mg/L) - - - - -
i 7K R (mg/L) - - - - =
K 4 (mg/L) - - - - -
ol R M B (me/L) - - - - -
B i~y 5o (ng/L) . - - B -
H [~ v & (mg/L) - - - - -
w4 A4 > (mg/L) 3590 4810 8060 8190 6160
i b % A 4 >~ (mg/L) 0.1 < 0.1 0.1 0.1 < 0.1
i b K F (mg/L) 0.001 [<  0.001 0.001 0.001 [I<  0.001
MBAS (mg/L) - - - - -
D ToE=THEESR (mg/L) 5.72 6.21 2.08 7.02 5.26
A rEEFE (mg/L) 2.10 2.18 1.74 1.62 1.91
fit FURRTEZEE (mg/L) 1.49 9.29 3.56 3.16 262
B B M B (mg/L) 0.298 0.251 0.390 0.185 0.281
B s E R 0 sy 10900 14200 22700 23200 17800
B OB Kk T)E )= TE T
. 7K i (C) 21.2 26.7 25.0 15.1
5 = WTEKE | b KkER 5 AR
- % o E (cm) 59 47 100 59
[ e pH 74 7.7 7.6 8.0 77
T DO (mg/L) 1.6 |< 05 3.7 6.5 3.0
TH = BOD (mg/L) - - - - -
5 COD (mg/L) 4.5 5.3 3.7 3.1 4.2
q o SS (mg/L) 3 4 2 9 4
~ & = # (mg/L) 1.95 1.87 1.62 1.81 1.81
H % B (mg/L) 0.290 0.333 0.179 0.131 0.233
WAk A A4 > (mg/L) 13800 16200 17500 17900 16400
i b ¥ A A > (mg/L) 0.1 < 0.1 0.1 0.1 < 0.1
€ i b K F (mg/L) 0.001 0.079 0.001 0.001 0.020
o TUoE=TMHEHE (mg/L) 1.02 0.67 0.48 0.59 0.69
frgEerEzEFR (mg/L) 0.23 0.09 0.17 0.18 0.17
it fifett=s%  (mg/L) 0.49 0.26 0.60 0.74 0.52
B M B (mg/L) 0.224 0.274 0.146 0.071 0.179
E R B E E 0 sy 36400 40900 44200 45100 41600




I E Hh 5 4 KI 4 ) 114, ey HE TR 4
IN
g O soRi | s | C OIIIES
24 BEHH (H/H) 5/9 7/25 10/31 1/30 Gl 5
AERE A REA] (KF:47) 11:00 12:00 10:15 10:15 Wt
: I LR A AR L YEARI O YA O YEAR T L
% kK % () 4.0 15 4.3 4.4
wml B K3 )& < JE 7<) 7<)
S oz = iE i3 i3
I " (C) 214 31.6 185 10.4
=l K i (C) 21.0 28.0 21.5 13.3
s 0, A K& JK kA ) R ek £
e 5 TR TAKE BFKR | KR
g 75 B B (m) 1.7 1.5 2.7 2.1
7 A E (cm) 66 47 57 66
18 | A4 pH 7.4 7.6 7.4 7.4 7.4
- DO (mg/L) 2.3 7.5 3.9 6.7 5.1
i BOD (mg/L) - - - - -
B COD (mg/L) 6.3 8.1 7.3 6.5 7.0
H |5 SS (mg/L) 3 6 2 6 4
wlL & = % (mg/L) 3.43 5.98 6.18 8.17 5.94
S W (mg/L) 0.327 0.444 0.387 0.247 0.351
U2 @ &% (ng/l) . - - - -
7K 2 v A (mg/L) - - - - -
| & ¥ 7 v (mg/L) - — — — —
KR &h (mg/L) - — — - -
Wl A i 7 5 A (mg/L) - - - - -
H fitk # (mg/L) - - - - -
i 7K R (mg/L) - - - - =
K 4 (mg/L) - - - - -
ol R M B (me/L) - - - - -
B i~y 5o (ng/L) . - - B -
H [~ v & (mg/L) - - - - -
Ak ¥ A A4 >~ (ng/L) 6920 7140 9750 10500 8578
i b % A 4 >~ (mg/L) 0.1 0.1 0.1 0.1 0.1
i b K F (mg/L) 0.001 0.001 0.001 0.001 0.001
MBAS (mg/L) - - - - -
D ToE=THEESR (mg/L) 0.58 2.04 0.97 3.27 1.72
A rEEFE (mg/L) 0.39 1.03 1.05 1.38 0.96
fit FURRTEZEE (mg/L) 0.93 1.73 274 273 2.03
B B M B (mg/L) 0.242 0.335 0.301 0.149 0.257
B s E R 0 sy 27000 20500 26200 28500 25600
B OB Kk T)E )= TE T
. 7K i (C) 22.0 26.6 23.8 12.8
5 = KR K KB AR
- % o E (cm) 51 68 100 66
[ e pH 74 7.7 7.7 8.0 7.4
T DO (mg/L) 0.6 1.3 3.1 7.2 3.1
TH = BOD (mg/L) - - - - -
5 COD (mg/L) 4.6 4.2 4.2 2.5 3.9
q o SS (mg/L) 4 3 2 8 4
~ & = # (mg/L) 1.72 1.74 1.26 2.02 1.68
H % B (mg/L) 0.313 0.241 0.139 0.095 0.197
WAk A A4 > (mg/L) 14100 17000 17200 17500 16400
i b ¥ A A > (mg/L) 0.1 0.1 0.1 0.1 0.1
€ i b K F (mg/L) 0.001 0.001 0.001 0.001 0.001
o TUoE=TMHEHE (mg/L) 1.00 0.34 0.32 0.65 0.58
frgEerEzEFR (mg/L) 0.25 0.14 0.13 0.23 0.19
it fifett=s%  (mg/L) 0.35 0.32 0.61 0.92 0.55
B M B (mg/L) 0.249 0.169 0.113 0.067 0.150
E R B E E 0 sy 37200 42000 43900 44000 41800




I E H S 4 KI 4 7)1 44 K HE TR 4
IN
=B JUH T B B | B c I
24 BEHH (H/H) 5/9 7/25 10/31 1/30 Gl 5
AR FHATREZ] (RF:47) 11:50 12:50 11:10 11:00 DA
- I LR A S Joating JERE JEhE
== 7K % (m) 4.6 6.0 5.4 5.0
wml B K3 )& < JE *JE 7<)
S oz = iE 5 i3
I " (C) 21.5 31.8 16.6 10.7
=l K i (C) 19.8 26.9 22.2 12.0
s 0, A IR ok £ JRIR [t UKD,
S = 4 5L JiE 5L i 5 5L
g 75 B B (m) 2.7 1.3 3.2 1.9
7 A B (em) > 100 29 > 100 90
18 | A4 pH 7.5 8.6 7.6 8.1 8.0
- DO (mg/L) 4.9 13.9 5.9 8.3 8.2
_ BOD (mg/L) - - - _ _
B COD (mg/L) 6.7 6.9 6.5 2.8 5.7
A |55 SS (mg/L) 4 14 3 9 8
w2 = % (mg/L) 4.31 2.08 4.45 1.46 3.08
S W (mg/L) 0.262 0.248 0.271 0.124 0.226
HI =% il $n (mg/L) 0.02 0.01 0.02 0.01 0.02
1K I v A (mg/L) < 0.001 [<  0.001 [< 0.000 [< 0.001 [[< 0.001
el &2 v 7 v (ng/l) K 0.1 < 0.1 < 0.1 < 0.1 < 0.1
153 i) (mg/L) < 0.005 |<  0.005 |<  0.005 [<  0.005 [< 0.005
WA M 7 v A (mg/L)]< 0.02 < 002 [< 002 [< 002 [< 0.02
H it # (mg/L) [<  0.005 |<  0.005 <  0.005 [<  0.005 [< 0.005
@ 7K R (mg/L) [<  0.0005 [<  0.0005 [<  0.0005 [<  0.0005 [[< 0.0005
Fr ] (mg/L) < 0.02 [<  0.02 < 002 <  0.02 f< 0.02
wol M B g/ 005 [< 005 [< 005 < 005 < 0.1
IS WM~ (mg/L) 0.07  [<  0.02 0.04  |<  0.02 0.03
Vi = 2 (mg/L)[< 0.02 [<  0.02 [< 002 [<  0.02 [< 0.02
WAk W A A >~ (mg/L) 8490 14100 12800 17500 13200
bW A A4 > (mg/L) |< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
i b K 3 (mg/L) [ 0.001  |<  0.001 [<  0.001 [<  0.001 [[< 0.001
MBAS (mg/L) [<  0.02 0.04 [< 0.02 [<  0.02 0.03
D ToE=THEESR (mg/L) 1.93 < 0.01 0.79 0.35 0.77
A rEEFE (mg/L) 0.60 0.08 0.17 0.14 0.25
fit FURRTEZEE (mg/L) 1.31 0.90 2.80 0.75 1.44
B B M B (mg/L) 0.193 0.087 0.224 0.055 0.140
B s E R 0 sy 23500 35200 33700 45000 34500
B OB Kk T)E )= INE] T
. 7K i (C) 18.9 21.3 20.9 10.6
5 = KR fmE KR AR
- % o E (cm) 71 69 > 100 57
[ e pH 7.7 8.0 7.7 8.2 7.9
T DO (mg/L) 4.3 2.0 3.9 8.4 4.7
TH = BOD (mg/L) — - - - -
5 COD (mg/L) 3.8 3.4 2.9 2.2 3.1
A | SS (mg/L) 7 4 3 10 8
~ & = # (mg/L) 2.04 1.28 1.04 1.64 1.50
H % B (mg/L) 0.170 0.172 0.109 0.083 0.134
WAk A A4 > (mg/L) 13900 17500 17700 18000 16800
At % A A4 > (mg/L) |< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
< i b K 3F (mg/L) [< 0.001  |< 0.001 [<  0.001 [< 0.001 [[< 0.001
o TUoE=TMHEHE (mg/L) 0.75 0.16 0.23 0.26 0.35
frgEerEzEFR (mg/L) 0.18 0.14 0.09 0.10 0.13
i fifett=ss  (mg/L) 0.65 0.31 0.52 0.62 0.53
B B M B (mg/L) 0.133 0.128 0.094 0.041 0.099
E A L E E 0wy 36600 43000 45000 46000 42600




I E H S 4 Kk 7)1 44 K HE TR 4
IN
e 1) 111 W | el E OIS
24 BEHH (H/H) 5/8 7/24 10/30 1/29 Gl 5
AR g A (KF:43) 10:40 10:25 9:50 9:50 DA
- B OH Aff E Ll il PRl Ll
e 7K % (m) 1.5 2.1 2.0 2.2
wml B K3 )& < JE EE] 7<)
S oz 5 = = i3
I " (C) 23.2 30.7 16.8 9.3
=l K i (C) 21.1 24.2 18.4 12.1
s 0, {B Fkt (E78) o) frta (%) | R (%)
S = 4 5L KR i 5 KB
g 75 B B (m) 1.2 1.0 1.2 0.8
7 A B (em) > 100 88 > 100 > 100
18 | A4 pH 7.7 7.7 7.4 7.5 7.6
- DO (mg/L) 10.2 7.5 9.0 8.5 8.8
i BOD (mg/L)J< 05 |< 05 0.7 0.6 0.6
B COD (mg/L) 3.3 3.0 2.9 1.9 2.8
H |5 SS (mg/L) 1 1 2 1 1
w2 = % (mg/L) 3.16 3.42 3.23 3.69 3.38
S W (mg/L) 0.036 0.050 0.048 0.038 0.043
HI =% il $n (mg/L) 0.01 0.03 0.02 0.02 0.02
1K I v A (mg/L) < 0.001 [<  0.001 [< 0.000 [< 0.001 [[< 0.001
el &2 v 7 v (ng/l) K 0.1 < 0.1 < 0.1 < 0.1 < 0.1
153 i) (mg/L) < 0.005 |<  0.005 |<  0.005 [<  0.005 [< 0.005
WA M 7 v A (mg/L)]< 0.02 < 002 [< 002 [< 002 [< 0.02
H it # (mg/L) [<  0.005 |<  0.005 <  0.005 [<  0.005 [< 0.005
@ 7K R (mg/L) [<  0.0005 [<  0.0005 [<  0.0005 [<  0.0005 [[< 0.0005
53 ] (mg/L) < 0.02 [<  0.02 < 002 <  0.02 f< 0.02
wolw o M B g/ 005 [< 005 [< 005 < 005 < 005
IS WM~ (mg/L) 0.03 [<  0.02 |<  0.02 0.04 < 0.02
Vi = 2 (mg/L)[< 0.02 [<  0.02 [< 002 [<  0.02 [< 0.02
At ¥ A4 4~ (mg/L) 1560 1750 2610 2640 2140
i b ¥ A4 4~ (mg/L) [< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
i b K 3 (mg/L) [ 0.001  |<  0.001 [<  0.001 [<  0.001 [[< 0.001
MBAS (mg/L) < 0.02 [<  0.02 |<  0.02 [<  0.02 f< 0.02
D TUoE=TMHEFE (mg/L) K 0.01 < 0.01 < 0.01 0.03 < 0.01
A rEEFE (mg/L) 0.02 0.01 0.01 0.02 0.02
fit FURRTEZEE (mg/L) 3.13 9,88 2.35 3.63 3.00
B B M B (mg/L) 0.025 0.020 0.027 0.018 0.022
B s E R 0 sy 6740 5890 8330 8350 7330
B OB Kk T)E )= TE T
. 7K i (C) 22.9 26.7 24.5 15.4
5= = i B BT i B R A o IR T N o
- % o B (cm) 37 20 29 42
[ e pH 7.3 7.1 7.0 7.4 7.2
T DO (mg/L) 46 |< 0.5 2.0 0.8 1.9
T | gy BOD (mg/L) 3.3 6.4 3.8 1.7 3.8
5 COD (mg/L) 5.4 9.2 5.6 3.8 6.0
A | SS (mg/L) 4 6 4 4 1
~ & = # (mg/L) 1.61 2.33 1.75 1.37 1.77
H % B (mg/L) 0.268 0.432 0.227 0.141 0.267
WAk A A4 > (mg/L) 11100 10500 15000 16800 13400
At % A A4 > (mg/L) |< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
€ i b K F (mg/L) < 0.001 2.3 < 0.001 [<  0.001 0.575
o TUoE=TMHEHE (mg/L) 0.43 1.35 0.69 0.40 0.72
frgEerEzEFR (mg/L) 0.03 0.06 0.01 0.05 0.04
it fifett=s%  (mg/L) 0.73 |<  0.01 0.43 0.56 0.43
B e PE O (mg/L) 0.172 0.302 0.125 0.058 0.164
E R B E E 0 sy 29700 27900 39000 42500 34800




I E Hh 5 4 Kk 7)1 44 K HE TR 4
IN
e ) |G b s | MR | 1K
24 BEHH (H/H) 5/8 7/24 10/30 1/29 Gl 5
AERE A REA] (KF:47) 11:10 11:30 10:45 10:30 Wt
- I LR A T | oty | TEEg | TS0t
== 7K % (m) 1.1 2.5 2.5 2.6
I S SRS )= )= 7<) )=
R % i 2 2 i
I " (C) 25.2 30.6 17.1 8.6
=l K i (C) 22.0 26.0 16.6 11.1
s 4, tH Hikte (E#) ekt KA (EE) Bkt
S = b kER]  PAKERE KR KB
g 75 B B (m) 0.9 1.5 1.1 2.6
7 A B (em) > 100 > 100 79 78
18 | A4 pH 7.5 7.4 7.3 7.6 7.4
- DO (mg/L) 5.1 5.3 5.3 7.4 5.8
i BOD (mg/L) - - - - -
B COD (mg/L) 4.9 3.4 4.1 2.4 3.7
H |5 SS (mg/L) 2 4 3 3 3
wlL & = % (mg/L) 3.37 2.78 1.14 2.35 2.41
S # (mg/L) 0.224 0.208 0.175 0.103 0.178
U2 @ &% (ng/l) - - - - -
7K 2 v A (mg/L) - - - - -
| & ¥ 7 v (mg/L) - — — — —
KR &h (mg/L) - — — - -
Wl A i 7 5 A (mg/L) - - - - -
H fit # (mg/L) - - - - -
oSy 7K R (mg/L) — — — — -
K 4 (mg/L) - - - - -
ol R M B (me/L) - - - - -
B i~y 5o (ng/L) . - - B -
H [~ v & (mg/L) - - - - -
Ak ¥ A A4 >~ (ng/L) 6020 5000 7680 10300 7250
Wi fb ¥ A A4 >~ (mg/L) [< 0.1 < 0.1 < 0.1 < 0.1 0.1
i b K 3% (mg/L) |< 0.001  |<  0.001 [<  0.001 [<  0.001 0.001
MBAS (mg/L) - - _ _ _
D ToE=THEESR (mg/L) 0.41 0.39 0.50 0.24 0.38
A rEEFE (mg/L) 0.12 0.07 0.05 0.04 0.07
fit FURRTEZEE (mg/L) 9297 1.96 0.07 2.03 1.58
B B M B (mg/L) 0.182 0.169 0.126 0.064 0.135
B A B E E 0y 17200 14600 21500 27600 20200
B OB Kk T)E )= TE T
. 7K i (C) 21.7 26.7 24.6 15.0
5= = s bk 3 R iR b AR SR B[R LK B R | R R KR
. % o E (cm) 61 36 37 76
[ e pH 7.3 7.3 7.2 7.7 7.4
T DO (mg/L) 1.2 0.7 0.7 4.7 1.8
TH = BOD (mg/L) - - - - -
5 COD (mg/L) 5.6 5.0 5.7 1.8 4.5
q o SS (mg/L) 7 4 4 7 6
~ & = # (mg/L) 2.27 2.31 2.33 1.37 2.07
H % B (mg/L) 0.306 0.389 0.215 0.119 0.257
WAk A A4 > (mg/L) 8970 10100 17600 16500 13300
At % A A4 > (mg/L) |< 0.1 1.2 < 0.1 < 0.1 0.3
€ i b K F (mg/L) < 0.001 1.2 < 0.001 [<  0.001 0.3
o TUoE=TMHEHE (mg/L) 0.57 0.56 0.61 0.33 0.52
frgEerEzEFR (mg/L) 0.13 0.03 0.01 0.06 0.06
it fifett=s%  (mg/L) 1.39 0.57 1.04 0.76 0.94
B M B (mg/L) 0.234 0.301 0.157 0.067 0.190
B R AE E E s 24600 26500 43100 42100 34100




HIE S 4 7KIBA4 aE2 Fa HIE T AT 44
IN
e S T ok B | WG c OIS
24 HEHAH (A/H) 5/8 7/24 10/30 1/29 Gl 5
AR FHATREZ] (RF:47) 9:50 9:50 9:15 9:30 DA
- I LR A HeAE b HAR ) HEAR h HeAE fih
== 7K % (m) 2.5 3.3 3.0 2.0
I S SRS < JE 7<) =8 7<)
S oz 5 iE i3 i3
I " (C) 24.3 31.4 16.2 9.6
=l K H(C) 20.6 26.8 17.6 10.8
s 0, A o) ik @%@ Fkta
S = fE 5L bk FE R e 5 5L
g 75 B B (m) 1.5 1.5 2.0 2.0
7 i B (em) > 100 57 60 100
18 | A4 pH 7.5 7.4 7.3 7.7 7.5
- DO (mg/L) 5.0 7.4 4.8 6.2 5.9
_ BOD (mg/L) - - - _ _
b COD (mg/L) 5.3 7.2 4.5 2.8 5.0
H |5 SS (mg/L) 7 7 3 1 5
wlL & = # (mg/L) 2.66 2.85 2.07 1.91 2.37
S W (mg/L) 0.290 0.427 0.184 0.114 0.254
U2 @ &% (ng/l) . - - - -
7K 2 v A (mg/L) - - - - -
| & ¥ 7 v (mg/L) - — — — —
KR &h (mg/L) - — — - -
Wl A i 7 5 A (mg/L) - - - - -
H fitk # (mg/L) - - - - -
i 7K R (mg/L) — - - - -
K 4 (mg/L) — - - - -
ol R M B (me/L) - - - - -
B i~y 5o (ng/L) . B - B -
H 7 5 & (mg/D) . B B B -
WAk W A A >~ (mg/L) 6930 8490 8190 12900 9130
i b ¥ A4 4~ (mg/L) [< 0.1 < 0.1 < 0.1 0.1 < 0.1
i b K F (mg/L) < 0.001 < 0.001  [<  0.001 0.001 [[<  0.001
MBAS (mg/L) - - - - -
D ToE=THEESR (mg/L) 0.44 0.35 0.54 0.28 0.40
A rEEFE (mg/L) 0.16 0.12 0.05 0.05 0.10
fit FURRTEZEE (mg/L) 2.04 1.21 0.85 1.45 1.39
B B M B (mg/L) 0.230 0.263 0.111 0.068 0.168
B s E R 0 sy 19000 22800 22200 34400 24600
B OB Kk T)E )= INE T
. 7K i (C) 23.8 25.5 24.5 14.9
5= = s K E R AL KE R [k kER 5L
. % o E (cm) 60 32 45 79
[ e pH 7.3 7.3 7.4 7.8 7.5
T DO (mg/L) 1.6 |< 05 1.1 5.7 2.1
TH = BOD (mg/L) — - - - -
5 COD (mg/L) 5.3 6.1 3.9 2.1 4.4
A | SS (mg/L) 3 11 2 11 7
~ & = # (mg/L) 2.32 2.28 1.08 1.18 1.72
H % B (mg/L) 0.337 0.385 0.179 0.109 0.252
WAk A A4 > (mg/L) 10300 12200 17300 17600 14400
At % A A4 > (mg/L) |< 0.1 115 [« 0.1 0.1 2.9
€ i b K F (mg/L) < 0.001 1.6 < 0.001 0.001 0.4
o TUoE=TMHEHE (mg/L) 0.67 0.46 0.40 0.32 0.46
s rEEFR (mg/L) 0.16 0.03 0.06 0.06 0.08
it fifett=s%  (mg/L) 1.10 0.49 0.25 0.63 0.62
B e PE O (mg/L) 0.261 0.272 0.132 0.065 0.183
E R B E E 0 sy 27800 31900 43200 44200 36800




I E H S 4 Kk 7)1 44 K HE TR 4
IN
e L SO | BEEN | C OIIIES
24 HEHAH (A/H) 5/8 7/24 10/30 1/29 Gl 5
AR FHATREZ] (RF:47) 9:10 9:10 8:30 8:50 DA
- TZ\E e fir E Bk & 1 1
4 7K % (m) 4.9 5.2 5.3 5.6
wml B K3 )& < JE 7<) 7<)
S oz 5 iE = i3
I " (C) 22.9 27.4 16.2 14.9
=l K i (C) 20.9 26.6 22.5 13.6
s 0, {B FEE Kk o ek E Fkta
S = i b AKE R PR KR i 5 5L
g 75 B B (m) 1.7 0.9 2.9 1.9
7 i B (em) > 100 35 80 100
18 | A4 pH 7.4 7.7 7.5 7.8 7.6
- DO (mg/L) 5.0 11.1 2.8 6.1 6.3
i BOD (mg/L) - - - - -
B COD (mg/L) 5.5 8.2 4.1 2.2 5.0
A |55 SS (mg/L) 2 12 2 2 5
wlL & = # (mg/L) 3.36 5.80 1.29 1.77 3.06
S # (mg/L) 0.462 0.711 0.174 0.117 0.366
U2 @ &% (ng/l) . - - - -
7K 2 v A (mg/L) - - - - -
| & ¥ 7 v (mg/L) - — — — —
B3 #n (mg/L) - - - - -
BN i 7 7 2 (mg/L) - - - - -
H fitk #  (mg/L) - - - - -
i K R (meg/1) - - - - -
¥ i (mg/L) - - - - -
RO Bk (me/L) - - - - -
T CEmPE~ T (mg/L) - - - - -
H [~ v & (mg/L) - - - - -
WAk W A A >~ (mg/L) 8510 8290 14700 16200 11900
i b ¥ A4 4~ (mg/L) [< 0.1 < 0.1 0.1 0.1 < 0.1
it b K F (mg/L)|<  0.001 |<  0.001 0.001 0.001 [[<  0.001
MBAS (mg/L) - - - - -
D ToE=THEESR (mg/L) 0.97 0.50 0.42 0.34 0.56
Mg E=E%  (mg/L) 0.28 0.19 0.08 0.06 0.15
fit FURRTEZEE (mg/L) 210 2,91 0.48 0.82 1.58
B B M B (mg/L) 0.430 0.473 0.136 0.071 0.278
B s E R 0 sy 23300 22200 40100 41200 31700
B OB Kk T)E )= TE T
. 7K i (C) 21.7 24.8 21.4 15.6
5 = s KR R KE R fiE 5L
- % o E (cm) 73 50 86 72
[ e pH 7.3 7.7 7.6 8.1 7.7
T DO (mg/L) 14 |< 05 2.6 6.5 2.6
TH = BOD (mg/L) — - - - -
5 COD (mg/L) 5.0 3.1 3.6 2.1 3.5
q o SS (mg/L) 5 10 2 6 6
~ & = # (mg/L) 0.85 0.99 1.14 1.44 1.11
H % B (mg/L) 0.302 0.203 0.149 0.095 0.187
WAk A A4 > (mg/L) 16400 17600 17500 18400 17500
At % A A4 > (mg/L) |< 0.1 < 0.1 0.1 0.1 < 0.1
€ i b K 3 (mg/L) |<  0.001  |<  0.001 0.001 0.001 [[<  0.001
o TUoE=TMHEHE (mg/L) 0.59 0.22 0.36 0.24 0.35
frgEerEzEFR (mg/L) 0.04 0.06 0.08 0.07 0.06
it fifett=s%  (mg/L) 0.18 0.26 0.37 0.57 0.34
B e PE O (mg/L) 0.228 0.155 0.122 0.055 0.140
E R B E E 0 sy 41700 43600 44300 45600 43800




I E H S 4 Kk 7)1 44 K HE TR 4
IN
g W B 4 soRi | s | C OIIIES
24 HEHAH (A/H) 5/8 7/24 10/30 1/29 Gl 5
AR FHATREZ] (RF:47) 8:20 8:30 7:30 8:00 DA
- TZ\E e fir E &k 1 1 g 1
e 7K % (m) 4.9 4.8 4.9 5.1
wml B K3 )& < JE *JE 7<)
S oz 5 = = i3
I " (C) 22.6 26.9 143 13.3
=l K i (C) 19.8 26.3 19.7 14.7
s 0, {B ) JKE e R ek £
= B = TKE KR e L e L
g 75 B B (m) 2.4 1.2 2.5 2.1
7 A B (em) > 100 38 75 > 100
18 | A4 pH 7.4 7.9 7.6 8.1 7.8
. DO (mg/L) 5.2 10.3 4.4 7.3 6.8
i BOD (mg/L) - - - - -
B COD (mg/L) 7.1 6.7 3.8 2.0 4.9
H |5 SS (mg/L) 3 7 3 4 4
wlL & = # (mg/L) 4.47 4.68 1.52 0.97 2.91
S W (mg/L) 0.290 0.590 0.179 0.095 0.288
HI =% il $n (mg/L) 0.04 0.03 0.02 |< 0.01 0.02
1K I v A (mg/L) < 0.001 [<  0.001 [< 0.000 [< 0.001 [[< 0.001
el &2 v 7 v (ng/l) K 0.1 < 0.1 < 0.1 < 0.1 < 0.1
153 i) (mg/L) < 0.005 |<  0.005 |<  0.005 [<  0.005 [< 0.005
WA M 7 v A (mg/L)]< 0.02 < 002 [< 002 [< 002 [< 0.02
H it # (mg/L) [<  0.005 |<  0.005 <  0.005 [<  0.005 [< 0.005
@ 7K R (mg/L) [<  0.0005 [<  0.0005 [<  0.0005 [<  0.0005 [[< 0.0005
Fr ] (mg/L) < 0.02 [<  0.02 < 002 <  0.02 f< 0.02
wol M B g/ 005 [< 005 [< 005 < 005 < 0.1
I vamiE~> 5 (mg/l) 0.06 [<  0.02 0.02  [<  0.02 f<  0.02
H Vi = 2 (mg/L)[< 0.02 [<  0.02 [< 002 [<  0.02 [< 0.02
WAk W A A >~ (mg/L) 7190 8290 15000 18400 12200
i b ¥ A4 4~ (mg/L) [< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
i b K 3 (mg/L) [ 0.001  |<  0.001 [<  0.001 [<  0.001 [[< 0.001
MBAS (mg/L) < 0.02 [<  0.02 |<  0.02 [<  0.02 f< 0.02
D ToE=THEESR (mg/L) 0.47 0.50 0.40 0.19 0.39
A rEEFE (mg/L) 0.98 0.18 0.10 0.07 0.33
fit FURRTEZEE (mg/L) 1.38 2.97 0.63 0.59 1.39
B B M B (mg/L) 0.228 0.509 0.130 0.050 0.229
B s E R 0 sy 19300 22300 38900 45800 31600
B OB Kk T)E )= INE] T
. 7K i (C) 22.5 24.8 20.6 13.4
5 = 5L figE R fiE 5L AR
- % o B (em) > 100 81 86 67
[ e pH 7.6 7.8 7.7 8.2 7.8
T DO (mg/L) 2.7 1.8 4.0 7.9 4.1
TH = BOD (mg/L) — - - - -
5 COD (mg/L) 3.8 3.0 3.0 1.5 2.8
5 | b %bs - (mg/L) 4 5 3 5 4
~ & = # (mg/L) 1.24 1.33 1.17 0.98 1.18
H % B (mg/L) 0.191 0.186 0.141 0.102 0.155
WAk A A4 > (mg/L) 15000 17700 18000 18100 17200
At % A A4 > (mg/L) |< 0.1 < 0.1 < 0.1 < 0.1 < 0.1
€ i b K 3F (mg/L) [< 0.001  |< 0.001 [<  0.001 [< 0.001 [[< 0.001
o TUoE=TMHEHE (mg/L) 0.38 0.25 0.31 0.15 0.27
frgEerEzEFR (mg/L) 0.12 0.06 0.08 0.07 0.08
it fifett=s%  (mg/L) 0.60 0.37 0.50 0.59 0.52
B e PE O (mg/L) 0.154 0.144 0.114 0.051 0.116
E R B E E 0 sy 38700 43400 43700 45600 42800




